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Question 1- 9 bikes of 9 different person are parked in a row. 

What is the probability that three person names as x, y, and z’s 

bike are parked together.

प्रश्न 1- 9 अलग-अलग व्यक्तियों की 9 बाइक एक पंक्ति में खड़ी हैं। x, y और

z की बाइक के रूप में त़ीन व्यक्तियों के एक साथ पाकक  होने की प्राक्तयकता क्या 

ह?ै
A.1/84

B. 1/81

C. 2/81

D.3/83

E. None of these
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Question 2- The average marks of 20 students are 80. If the marks of two 

students has been removed then average of remaining becomes 85. Find the 

marks of second student if the marks of first student is 45.

प्रश्न 2- 20 छात्रों के औसत अंक 80 हैं। यक्ति िो छात्रों के अंक हटा क्तिए जाते हैं तो शेष छात्रों का 

औसत 85 हो जाता ह।ै यक्ति पहले छात्र के अंक 45 हैं, तो िसूरे छात्र के अंक ्ात कीक्तजये।

A.35

B. 25

C. 15

D.45

E. None of these
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Question 3- A person sells an article after giving two successive discount 

of 16% each. If he gives 34% discount then he would earned Rs 1368 

less profit. Find the marked price of article.

प्रश्न 3- एक व्यक्ति एक वस्त ुको 16% की िो क्रमागत छूट िनेे के बाि बेचता ह।ै यक्ति वह 

34% की छूट ितेा ह ैतो उसे 1368 रुपये कम लाभ प्राप्त होगा. वस्त ुका अंक्तकत मलू्य ्ात 

कीक्तजये।
A.Rs 20,000

B. Rs 40,000

C. Rs 30,000

D.Rs 45,000

E. None of these
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Question 4- The difference between two number of 40% of there sum. If the 

smaller number if 75 then find sum of the number.

प्रश्न 4- िो संख्याओ ंके ब़ीच का अंतर उनके योग के 40% के बराबर ह ै। यक्ति छोट़ी संख्या 75 ह,ै 

तो संख्या का योग ्ात कीक्तजये।

A.150

B. 125

C. 250

D.350

E. None of these
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Question 5- P can complete a work in 60 days. Q is thrice efficient than R and 

twice efficient than P. Q and R start working then after how many days should P 

join them so that work will complete in 18 days.

प्रश्न 5- P एक कायक को 60 क्तिनों में परूा कर सकता ह।ै Q, R से त़ीन गनुा कुशल ह ैऔर P से िोगनुा 

कुशल ह।ै Q और R काम करना शरुू करते हैं, तो P को क्तकतने क्तिनों के बाि उनके साथ शाक्तमल 

होना चाक्तहए ताक्तक काम 18 क्तिनों में परूा हो जाए? A.18 days

B. 12 days

C. 16 days

D.24 days

E. None of these
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Question 6- A person first increase the price of an article by 40% and further 

increase by 20%. Now he sells it after giving a discount of 25% then he gains Rs 

104. What will be the selling price if he want to make a profit of 60%.

Question 6- एक व्यक्ति पहले एक वस्त ुके मलू्य में 40% की वकृ्ति करता ह ैऔर क्तिर 20% की 

वकृ्ति करता ह।ै अब वह इसे 25% की छूट िनेे के बाि बेचता ह ैतो उसे 104 रुपये का लाभ होता ह।ै 

यक्ति वह 60% का लाभ कमाना चाहता ह ैतो क्तवक्रय मलू्य क्या होगा?

A.Rs 440

B. Rs 560

C. Rs 540

D.Rs 640

E. None of these
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Question 7- What approximate value will come in place of question 

mark.

प्रश्न 7- प्रश्न क्तचह्न के स्थान पर अनमुाक्तनत मान क्या आएगा?

239.88 of 49.99 ÷ 31.89 of 29.84× 16.01 = ?2×8

49.99 का 239.88 ÷ 29.84 का 31.89× 16.01 = ?2×8

A. 24

B. 18

C. 34

D. 44

E. 40
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Question 8- What approximate value will come in place of question mark.

प्रश्न 8- प्रश्न क्तचह्न के स्थान पर अनमुाक्तनत मान क्या आएगा?

57.88 × 29.86 − 29.99 ÷ 8.99 = 𝑥𝑜𝑓 35.92 + 25.78 − 38.01

A. 5

B. 15

C. 9

D. 19

E. 2
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The line graph given below shows the total number of students in different 

school(blue line) and the total number of boys (orange line).

ऩीचे क्तिया गया रेखा ग्राि क्तवक्तभन्न स्कूल (ब्लू लाइन) में छात्रों की कुल संख्या और लडकों की कुल 

संख्या (नारंग़ी रेखा) को िशाकता ह।ै



Question 9- Find the ratio between the total girls in schools B and C and boys in 

number of boys in E.

प्रश्न 9- क्तवद्यालय B और C में कुल लडक्तकयों और E में लडकों की संख्या का अनपुात ्ात कीक्तजए।

A.11:4

B. 12:3

C. 15:4

D.13:4

E. None of these
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Question 10- The number of girls in A is y% more than number of girls in c. Then 

find value of 40% of y.

प्रश्न 10- A में लडक्तकयों की संख्या, C में लडक्तकयों की संख्या से y% अक्तिक ह।ै तो y के 40% का 

मान ्ात कीक्तजये।

A.54

B. 44

C. 124

D.104

E. None of these
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Question 11- Find the average number of boys in all school.

प्रश्न 11- सभ़ी स्कूलों में लडकों की औसत संख्या ्ात कीक्तजए।

A.112

B. 162

C. 142

D.212

E. None of these
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Question 12- If 90% girls and 95% boys are removed from school C and a 

group of 3 students is to be formed. How many ways are possible so that there 

are 2 girls and 1 one boy should be there.

प्रश्न 12- यक्ति 90% लडक्तकयों और 95% लडकों को स्कूल C से हटा क्तिया जाता ह ैऔर 3 छात्रों 

का एक समहू बनाया जाना ह।ै क्तकतने तऱीके संभव हैं क्तक 2 लडक्तकयां हों और 1 लडका हो।

A.418

B. 448

C. 568

D.468

E. None of these
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Question 13- If number of boys and girls are increased by 20% and 30% in B 

respectively. Then total students in schools B now is what percent of total 

students in A.

प्रश्न 13- यक्ति B में लडकों और लडक्तकयों की संख्या में क्रमशः 20% और 30% की वकृ्ति होत़ी ह।ै 

तो अब क्तवद्यालय B में कुल छात्र A के कुल छात्रों का क्तकतना प्रक्ततशत ह?ै

A.46.5%

B. 86.5%

C. 66.5%

D.76.5%

E. None of these
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Question 14- What will come in place of question mark in the given series.

प्रश्न 14- ि़ी गई श्ृंखला में प्रश्न क्तचह्न के स्थान पर क्या आएगा?

40, 48, 64, 96, ?, 288

A.120

B. 140

C. 160

D.220

E. None of these
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Question 15- What will come in place of question mark in the given series.

प्रश्न 15- ि़ी गई श्ृंखला में प्रश्न क्तचह्न के स्थान पर क्या आएगा?

-22, -12, -27, -7, -32, ?

A.2

B. -2

C. 4

D.-2

E. None of these
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